
 
Parts List 

Item Qty 
Intercooler Grill 1 
Nose Skid Plate 1 
M6 x 16mm long Bolt 2 
M6 x 25mm long Bolt 2 
M6 flanged lock nuts 3 
M6 Shim Washers 3 
  

 
Intercooler Guard Installation Instructions 
 

1. Remove the complete factory nose cone and grill assembly. Be sure to save the (2) torx screws that 
attach the nose cone to the tabs inside the bumper.  

2. Locate the pilot hole on the underside of subframe and drill it out with a ¼” drill bit.  

 



3. Using a 25mm bolt and nut, install the skid plate to the subframe via the hole you drilled in step 2. Be 
sure to place 3 shim washers between the plate and subframe. Snug the bolt up so it stays in place. 

 

4. Using the holes in the front of the nose skid plate as a guide drill holes into the bumper support and 
secure it with (2) 16mm bolts and nuts.  

 

5. Loosen up the (2) bolts on each side of the bumper that attach it to the support brackets. 
 

 



6.  Install the grill. Use the (2) oem torx screws you saved in step 1 for the top two mounts and a 25mm 
long bolt provided for the lower mount.  

 

7. Once the nose skid plate and grill are secured, tighten (4) bumper bolts back up. 

 

 

 

 

 
 


